T embedding QA 200 GeV Isobar Runl8

/star/lembed/embedding/*/st_physics_adc_*.MuDst.root

Number of events: 614245 / 388602
5 11" per event

Event Cuts:
|VZ| <30cm, |AV,| <3cm

Track Cuts:
Primary tracks
p. > 0.2GeV,n <1
nHits > 15, nHitdedx > 10, nHits/nPoss > 0.52

gDca<2.0cm
Request Description
Pi+ 5M pr=[0-5]; (30k for pT=[5-20] GeV)
pi- 5M trigger ID: MB selection {600001, 600011, 600021, 600031};
-35<vz < 25em;
K+ 1M 5 embedded particles per event ;
K- 1M |eta|<l:

P20ic, (2018)

2022-02-20 Yuan Su / USTC
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